

Resolution No. 2025-007 Fuel Purchase

CITY COUNCIL MEETING | January 21, 2025

Background



We currently purchase fuel from Tartan Oil on an emergency basis



Tarrant County extended the agreement to April 2025 and still has an option to extend to April 2026



Pricing is variable and is based on a set amount compared to the OPIS (Oil Price Information Service) Index Pricing



On average, the Tarrant County pricing for Tartan Oil is cheaper than the previous fuel distributor.





Fuel Purchase History

- FY2022-23 Fuel Purchases (Not on Tarrant County Contract)
 - Unleaded 98,023.55 Gallons @ \$2.84/Gallon (Average) = \$278,583.58
 - Diesel 45,071.10 Gallons @ \$3.39/Gallon (Average) = \$152,984.57
- FY2023-24 Fuel Purchases (Not on Tarrant County Contract)
 - Unleaded 122,882.26 Gallons @ \$2.70/Gallon (Average) = \$331,470.46
 - Diesel 51,716.45 Gallons @ \$3.17/Gallon (Average) = \$164,189.43
- FY2024-25 Fuel Purchases YTD (with Tarrant County Contract)
 - Unleaded 25,860.87gallons @ \$2.35/Gallon (Average) = \$60,892.77
 - Diesel 9,475.55 Gallons @ \$2.80/Gallon (Average) = \$26,522.21



Questions?

CITY COUNCIL MEETING | January 21, 2025